
Ordertel 011 - 19 77 00  •  www.oclbrorssons.se/af

Kit 
Art.nr

Bilmodell PCD Art.nr 
Mutter/Bult

Benämning 
Mutter/Bult

Ant 
M/B

Art.nr 
Navring

Mått 
navring

Verktyg

MONTERINGSSATSER, INNEHÅLL

AEZ, DOTZ, DEZENT, ENZO
ZJA3 Audi 4/108 Z653255 B M14x1,50x28,60°,NV:17 16 Z1411 70,1-57,1
ZJA4 Audi/Ford/Seat/VW 5/112 Z653250 B M14x1,50x32,60°,NV:17 20 Z1411 70,1-57,1
ZJAE Audi/Seat/Skoda/VW 5/112 Z653255 B M14x1,50x28,60°,NV:17 20 Z1411 70,1-57,1
ZJB1 BMW 5/120 Z653200 B M12x1,50x26,60°,NV:17 20  -  -
ZJB2 BMW/Mini 5/112 Z653290 B M14x1,25x27;60;NV:17 20 Z1462 70,1-66,6
ZJB3 BMW 5/120 Z653200 B M12x1,50x26,60°,NV:17 20 Z1414 74,1-72,6
ZJB4 BMW 5/120 Z653250 B M14x1,50x32,60°,NV:17 20 Z1414 74,1-72,6
ZJB5 Mini 4/100 Z653200 B M12x1,50x26,60°,NV:17 16 Z1336 60,1-56,1
ZJB6 BMW X5 5/120 Z653265 B M14x1,50x34,60°,NV:19 20 Z1414 74,1-72,6
ZJB7 BMW X5 (E70) 5/120 Z653295 B M14x1,25x33;60;NV:17 20  -  -
ZJB8 BMW 7-serie 5/120 Z653295 B M14x1,25x33;60;NV:17 20 Z1414 74,1-72,6
ZJB9 Mini 4/100 Z653290 B M14x1,25x27;60;NV:17 16 Z1336 60,1-56,1
ZJBC Mini Countryman 5/120 Z653290 B M14x1,25x27;60;NV:17 20  -  -
ZJC1 Chrysler 5/100 Z663300 M M12x1,50 H:34,60°,NV:19 20 Z1359 60,1-57,1
ZJC2 Cadillac/Chevrolet/Chrysler/Opel/Pontiac/Volvo 5/114,3 Z663300 M M12x1,50 H:34,60°,NV:19 20  -  -
ZJD2 Chevrolet(Daewoo) 4/114,3 Z663310 M M12x1,25 H:34,60°,NV:19 16 Z1350 70,1-69,1
ZJD4 Chevrolet(Daewoo) 4/100 Z663300 M M12x1,50 H:34,60°,NV:19 16 Z1358 60,1-56,6
ZJD5 Chevrolet(Daewoo) 4/114,3 Z663300 M M12x1,50 H:34,60°,NV:19 16 Z1345 70,1-56,6
ZJFF Fiat/Ford 4/98 Z653355 B M12x1,25x30,27°,NV:17,flex 16 Z1370 60,1-58,1
ZJF1 Citroen/Fiat/Peugeot 4/98&108 Z653220 B M12x1,25x28,60°,NV:19 16  -  -
ZJF3 Alfa/Fiat/Jeep 5/98 Z653220 B M12x1,25x28,60°,NV:19 20  -  -
ZJF4 Ford/Mazda 4/108 Z663300 M M12x1,50 H:34,60°,NV:19 16 Z1341 70,1-63,4
ZJF5 Ford/Jaguar/Volvo 5/108 Z663300 M M12x1,50 H:34,60°,NV:19 20 Z1341 70,1-63,4
ZJFB Alfa (PCD-Ändringskit) 5/110 Z653355 B M12x1,25x30,60°,NV:19,flex 20 Z1617 70,1-65,1
ZJFF Fiat/Ford (PCD-Ändringskit) 4/98-100 Z653365 B M12x1,25x27,5,60°,NV:17 16 Z1370 60,1-58,1
ZJFG Ford/Land Rover/Range Rover 5/108 Z663500 M M14x1,50 H:41,60°,NV:19 20 Z1341 70,1-63,4
ZJFM Ford Mustang 5/114,3 Z663500 M M14x1,50 H:41,60°,NV:19 20 Z1771 71,6-70,6
ZJFXN PCD-Ändringskit 4/98-100 Z653355 B M12x1,25x30,60°,NV:19,flex 16 Z1370 60,1-58,1
ZJFYN PCD-Ändringskit 5/98-100 Z653355 B M12x1,25x30,60°,NV:19,flex 20 Z1370 60,1-58,1
ZJH1 Honda/Kia/Mitsubishi 4/100 Z663300 M M12x1,50 H:34,60°,NV:19 16 Z1336 60,1-56,1
ZJH2 Honda 4/114,3 Z663300 M M12x1,50 H:34,60°,NV:19 16 Z1340 70,1-64,1
ZJH5 Honda/Range Rover/Land Rover 5/114,3 Z663300 M M12x1,50 H:34,60°,NV:19 20 Z1764 71,6-64,1
ZJJ1 Dodge/Jeep 5/120,65 Z663350 M 1/2” H:34,60°,NV:19 20  -  -
ZJK2 Citroen/Kia/Opel/Peug./Suzuki/Toyota 4/100 Z653200 B M12x1,50x26,60°,NV:17 16 Z1337 60,1-54,1
ZJL1 Chrysler/Dodge/R+L Rover,Ssangyong 5/115 Z663500 M M14x1,50 H:41,60°,NV:19 20  -  -
ZJL2 Citroen/Fiat/Nissan/Opel/Peugeot/Renault/

Volkswagen
5/118 &
5/130

Z653250 B M14x1,50x32,60°,NV:17 20  -  -

ZJL4 Mercedes/Volkswagen 5/130 Z653250 B M14x1,50x32,60°,NV:17 20 Z1884 89,1-84.1
ZJL5 Citroen/Fiat/Peugeot 5x130 Z653270 B M16x1,5x33,60°,NV:19 20 Z1878 89,1-78,1
ZJL6 Ford 5x160 Z653303 M M14x2,öppen,60°,NV:19 20  -  -
ZJL8 Ford 5/130 Z653270 B M16x1,5x33,60°,NV:19 20  -  -
ZJM2 Hyundai/Kia/Mitsubishi/Smart/Volvo 4/114,3 Z663300 M M12x1,50 H:34,60°,NV:19 16 Z1342 70,1-67,1
ZJM5 Citroen/Dodge/Ford/Hyundai/Jeep/Kia/

Mazda/Mitsubishi/Peugeot
5/114,3 Z663300 M M12x1,50 H:34,60°,NV:19 20 Z1767 71,6-67,1

ZJM8 Mercedes 5/112 Z653255 B M14x1,50x28,60°,NV:17 20 Z1462 70,1-66,6
ZJM8A Audi/Porsche 5/112 Z653255 B M14x1,50x28,60°,NV:17 20 Z1462A 70,1-66,6
ZJM9 Mercedes 5/112 Z653250 B M14x1,50x32,60°,NV:17 20 Z1462 70,1-66,6
ZJMB Mercedes 5/112 Z653298 B M14x1,50x43, R14, NV:17 20
ZJME Chrysler/Mercedes 5/112 Z663200 B M12x1,50x24,60°,NV:17 20 Z1462 70,1-66,6
ZJMEF* Chrysler/Mercedes Special 5/112 Z6121524S B M12x1,50x24,60°, Slim 20 Z750666 75,0-66,6  + Z670017
ZJMH Mercedes 5/112 Z663200 B M12x1,50x24,60°,NV:17 20  -  -
ZJML Maserati 5/114,3 Z653255 B M14x1,50x28,60°,NV:17 20 Z1767 71,6-67,1
ZJMM Mercedes 5/112 Z653255 B M14x1,50x28,60°,NV:17 20  -  -
ZJMS Smart 3/112 Z663200 B M12x1,50x24,60°,NV:17 12  -  -
ZJN1 Nissan 4/100 Z663301 M M12x1,25 H:34,60°,NV:19 16 Z1412 60,1-59,1
ZJN2 Nissan 4/114 Z663301 M M12x1,25 H:34,60°,NV:19 16 Z1410 70,1-66,1
ZJN4 Nissan/Renault 5/114,3 Z663301 M M12x1,25 H:34,60°,NV:19 20 Z1766 71,6-66,1
ZJN6 Renault 5/114,3 Z653255 B M14x1,50x28,60°,NV:17 20 Z1766 71,6-66,1
ZJN7 Nissan/Suzuki 4/100 Z663301 M M12x1,25 H:34,60°,NV:19 16  -  -
ZJO1 Fiat/Opel 4/100 Z653210 B M12x1,50x28,60°,NV:17 16 Z1358 60,1-56,6
ZJO2 Cadillac/Fiat/Opel/Saab 5/110 Z653210 B M12x1,50x28,60°,NV:17 20  -  -
ZJO4 Cadillac/Chevrolet/Opel/Saab 5/120 Z663500 M M14x1,50 H:41,60°,NV:19 20 Z1780 72,6-67,1
ZJOXN PCD-Ändringskit 5/110-112 Z653375 B M12x1,50x30,60°,NV:17,flex 20 Z1617 70,1-65,1
ZJP0 Peugeot 5/108 Z653222 B M12x1,25x28,60°,NV:17 20 Z1617 70,1-65,1
ZJP2 Citroen/Peugeot 4/108 Z653222 B M12x1,25x28,60°,NV:17 16  -  -
ZJP3 Citroen/Fiat/Peugeot/Toyota 5/108 Z653220 B M12x1,25x28,60°,NV:19 20 Z1617 70,1-65,1
ZJP4 Alfa/Fiat/Saab/Volvo 5/98 Z653255 B M14x1,50x28,60°,NV:17 20  -  -
ZJP7 Citroen/Fiat/Ford/Lancia/Peugeot 4/108 Z653230 B M12x1,25x24,60°,NV:19 16  -  -
ZJPV Audi/Porsche/Volkswagen 5x130 Z653280 B M14x1,50 H:34,Kulf,NV:19 20  -  -
ZJR1 Citroen/Dacia/Mercedes/Nissan/Renault 4/100 Z653200 B M12x1,50x26,60°,NV:17 16  -  -
ZJR2 Renault 5/108 Z653255 B M14x1,50x28,60°,NV:17 20 Z1418 70,1-60,1
ZJR4 Mercedes/Renault 5/108 Z653200 B M12x1,50x26,60°,NV:17 20 Z1418 70,1-60,1
ZJR6 Dacia/Nissan/Renault 5/114,3 Z653310 B M12x1,50x30,60°,NV:17 20 Z1766 71,6-66,1
ZJS4 Subaru/Toyota 5/100 Z663301 M M12x1,25 H:34,60°,NV:19 20 Z1336 60,1-56,1

* = utgår vid slut Forts. på nästa sida



Ordertel 011 - 19 77 00  •  www.oclbrorssons.se/af

Kit 
Art.nr

Bilmodell PCD Art.nr 
Mutter/Bult

Benämning 
Mutter/Bult

Ant 
M/B

Art.nr 
Navring

Mått 
navring

Verktyg

MONTERINGSSATSER, INNEHÅLL forts...

AEZ, DOTZ, DEZENT, ENZO forts.. .
ZJS5 Nissan/Suzuki 4/100 Z663301 M M12x1,25 H:34,60°,NV:19 16 Z1337 60,1-54,1
ZJS7 Suzuki 5/114,3 Z663301 M M12x1,25 H:34,60°,NV:19 20 Z1760 71,6-60,1
ZJS7D* Suzuki 5/114,3 Z670020 M M12x1,25x37/22,6 Slim 20 Z1760 71,6-60,1  + Z670017
ZJS8 Fiat/Suzuki 5/114,3 Z653200 B M12x1,50x26,60°,NV:17 20 Z1760 71,6-60,1
ZJS9 Subaru 5/114,3 Z663301 M M12x1,25 H:34,60°,NV:19 20 Z1755 71,6-56,1
ZJT1 Hyundai/Kia/Mazda/Toyota 4/100 Z663300 M M12x1,50 H:34,60°,NV:19 16 Z1337 60,1-54,1
ZJT2 Lexus/Subaru/Toyota 5/100 Z663300 M M12x1,50 H:34,60°,NV:19 20 Z1337 60,1-54,1
ZJT4 Lexus/Toyota 5/114,3 Z663300 M M12x1,50 H:34,60°,NV:19 20 Z1760 71,6-60,1
ZJT4D* Toyota 5/114,3 Z670010 M M12x1,50x37/22,6 Slim 20 Z1760 71,6-60,1  + Z670017
ZJT5 Tesla Model X 5/120 Z663500 M M14x1,50 H:41,60°,NV:19 20 Z1781 72,6-64,1
ZJT6 Tesla Model S 5/120 Z663500 M M14x1,50 H:41,60°,NV:19 20 Z1783 72,6-64,1
ZJT7 Tesla Model 3 5/114,3 Z663500 M M14x1,50 H:41,60°,NV:19 20 Z1784 71,6-64,1
ZJV1 Seat/Skoda/VW 4/100 Z653200 B M12x1,50x26,60°,NV:17 16 Z1359 60,1-57,1
ZJV2 Audi/Seat/Skoda/VW 5/100 Z653255 B M14x1,50x28,60°,NV:17 20 Z1359 60,1-57,1
ZJV6 Volvo 5/108 Z653255 B M14x1,50x28,60°,NV:17 20 Z1617 70,1-65,1
ZJV7N Volvo 5/108 Z653255 B M14x1,50x28,60°,NV:17 20 Z1342 70,1-67,1
ZJV8 Audi/VW 5/100 Z653245 B M14x1,5x27,Kulf ,NV:17 20  -  -
ZJVA Volvo 5/108 Original bult  -  - Z1341 70,1-63,4
ZJVB Volvo 5/108 Z653250 B M14x1,50x32,60°,NV:17 20 Z1341 70,1-63,4
ZJVF Volvo 5/108 Original bult  -  - Z1617 70,1-65,1
ZJX1 Offroad 6/139,7 Z670010 M M12x1,50x37/22,6 Slim 24  -  -  + Z670021
ZJX2 Offroad 6/139,7 Z670020 M M12x1,25x37/22,6 Slim 24  -  -  + Z670021
ZJX3 Offroad 5/139,7 Z670010 M M12x1,50x37/22,6 Slim 20  -  -  + Z670021
ZJX4 Offroad 5/139,7 Z670020 M M12x1,25x37/22,6 Slim 20  -  -  + Z670021
ZJX5 Offroad 5/139,7 Z670030 M 1/2”x37/22,6 Slim 20  -  -  + Z670021
ZJX6 Offroad 6/139,7 Z670030 M 1/2”x37/22,6 Slim 24  -  -  + Z670021
ZJX8 Ford 5/114,3 Z670030 M 1/2”x37/22,6 Slim 20 Z1771 71,6-70,6  + Z670021
ZJX9 Offroad 6/139,7 Z670041 M M14x1,50x37/22,6 Slim 24  -  -  + Z670021
ZJXT Toyota 5/150 Z670040 M M14x1,50x37/22,6 Slim 20  -  -  + Z670017
SPECIAL

ZLAA Audi 5/112 Z6141530R14 B M14x1,50x30,R14,NV:17 20 - -
ZLAR Audi/VW 5/112 Original bult  - ZLR66657 66,6-57,1
ZLB4 BMW 5/112 Z614125295 B M14x1,25x29;R13;NV:17 20  -  -
ZLMM Mopedbilar 4/100 Z6101519ZIN M M10x1,50 H:26,60°,NV:19 16  -  -
ZLR1 Dacia/Nissan/Renault 4/100 Z653210 B M12x1,50x28,60°,NV:17 16 ZLR601 73,1-60,1
ZLV1 Seat/Skoda/VW 4/100 Z653210 B M12x1,50x28,60°,NV:17 16 ZLR571 73,1-57,1
ZLV9 Seat/VW 5/112 Z6141527 B M14x1,50x27,R14,NV:17 20  -  -
ZLX1671R Offroad 6/139,7 Z670010 M M12x1,50x37/22,6 Slim 24 ZLR110671 110 - 67,1  + Z670021
ZLX1931R Offroad 6/139,7 Z670010 M M12x1,50x37/22,6 Slim 24 ZLR110931 110 - 93,1  + Z670021
ZLX1106R Offroad 6/139,7 Z670010 M M12x1,50x37/22,6 Slim 24 ZLR110106 110 - 106,1  + Z670021
ZLX1107R Offroad 6/139,7 Z670010 M M12x1,50x37/22,6 Slim 24 ZLR110107 110 - 107,6  + Z670021
ZLX2661R Offroad 6/139,7 Z670020 M M12x1,25x37/22,6 Slim 24 ZLR832661 83,2-66,1  + Z670021
ZLX9781R Offroad 6/139,7 Z670041 M M14x1,50x37/22,6 Slim 24 ZLR110780 110 - 78,1  + Z670021

MAK
ZDB225L24517 Citroen/Fiat/Peugeot/Toyota 5/108 Z653230 B M12x1,25x24,60°,NV:19 20  -  -
ZDB450L27517R13 Audi Q5 5/112 Z653245 B M14x1,5x27,Kulf ,NV:17 20  -  -
ZDB450L27517R14 Mercedes 5/112 Z6141527 B M14x1,50x27,R14,NV:17 20  -  -
ZDB450L28517 Mercedes 5/130 Z653255 B M14x1,50x28,60°,NV:17 20  -  -
ZDB450L28519 Mercedes/Nissan/Opel/Renault/VW 5/130 Z653255 B M14x1,50x28,60°,NV:17 20  -  -
ZDB450L28619 Iveco/Mercedes/VW 6/125 Z653255 B M14x1,50x28,60°,NV:17 24  -  -
ZDB450L30517R14 Audi 5/112 Z6141530R14 B M14x1,50x30,R14,NV:17 20
ZDB450L36619 Mercedes/VW 6/130 Z6141536 B M14x1,50x36,60°,NV:19 24  -  -
ZDB450L30517R13 Audi 5/112 Z6141530R13 B M14x1,50x30,R13,NV:17 20  -  -
ZDB450L30517R14 Audi/Mercedes 5/112 Z6141530R14 B M14x1,50x30,R14,NV:17 20  -  -
ZDB450L45517R14B Mercedes 5/112 Z6141545R14 B M14x1,50x45,R14,NV:17 20  -  -
ZDD5 Ford/Volvo 5/108 Z663300 M M12x1,50 H:34,60°,NV:19 20 ZD72634 72-63,4
ZDD8 Ford 5/108 Z641535 M M14x1,50 H:34,60°,NV:21 20 ZD72634 72-63,4
ZDDO1 Hyundai/Toyota 6/139,7 Z670010 M M12x1,50x37/22,6 Slim 24 ZD1121061 112-106,1  + Z670021
ZDN225621C Nissan 6/114,3 Z6221235 M M12x1,25 H:34,60°,NV:21 24  -  -
ZDN250419C Ford 4/108 Z663300 M M12x1,50 H:34,60°,NV:19 16  -  -
ZDN250519C Jaguar 5/108 Z663300 M M12x1,50 H:34,60°,NV:19 20  -  -
ZDN250619C Ford/Isuzu 6/115 Z663300 M M12x1,50 H:34,60°,NV:19 24  -  -
ZDN250621C Hyundai/Kia/Mitsubishi/Toyota 6/139,7 Z663600 M M12x1,50 H:34,60°,NV:21 24  -  -
ZDN450521C Ssangyong 5/130 Z641534 M M14x1,50 H:34,60°,NV:19 20  -  -
ZDN450521F Ford Mustang 5/108 Z6141521DF11ZIN M M14x1,50 H:37,60°,NV:21 20
ZDN450621F Ford F-150 6/135 Z6141521DF11ZIN M M14x1,50 H:37,60°,NV:21 24
ZDNK250621 Mazda 6/139,7 Z670010 M M12x1,50x37/22,6 Slim 24  -
ZDNK450622 RAM 6/139,7 Z670041 M M14x1,50x45/22,6 Slim 24  -  -  + Z670022
ZDO10 Citroen/Kia/Mitsubishi/Peugeot 5/114,3 Z663300 M M12x1,50 H:34,60°,NV:19 20 ZD76671 76-67,1
ZDP12 Suzuki 5/114,3 Z663310 M M12x1,25 H:34,60°,NV:19 20 ZD76601 76-60,1
ZDSX1 Mercedes 5/112 Z653210 B M12x1,50x28,60°,NV:17 20 ZDSX76666 76-66,6
ZDSX4 Audi/Mercedes 5/112 Z653255 B M14x1,50x28,60°,NV:17 20 ZDSX76666 76-66,6
ZDSXA1 Audi 5/112 Z653255 B M14x1,50x28,60°,NV:17 20 ZDX76666 76-66,6
ZDTX3 VW 5/112 Z653255 B M14x1,50x28,60°,NV:17 20 ZDX76571 76-57,1


